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@\ BAaD t®PIC, baD joke
=) SuUms with StanparD Fer
5%10%* | 5.2x107% | 13x10° |1.5x10™ | 8x10™* | 3.6x107 | 2.5x10°
4 FIY DeN't PUPI| R®4D t® tine
2.7x10% | 2.07x10°| 5.96x10*| 2x10? 6x10%* | 6x10° | 4.1x107"
ball (|®Ck b®RED | ChiCken can whyY ®thCK
1.5x10"” | 5.8x10° | 8.57x107"| 2x10° 4%x10% | 36x10" |4.798x10°
CR®SS pDiD Make hiS the Sipg€ ThR®W

1) (3x10°)x (2x10*)

4) (6x10* ) (4x10?)

7) (3x10")+(6x10°)

10) (8x107)+(5.7x1072)

2) (8x10%)+(5x10°)

5)(2.5x10° )x(6x10°)

8)(2.7x10°)—(6.3x10)

11) (2x10°)+(8x107)

3)(8x107)+(2x10°)

6) (4.1x10° )+ (6.98x10?)

9) (4x107)x(9x10°)

12) (5.8x107)—(6x107)

NeW FND the WeRrD matching €ach answer anp Put
them in Aquetien ®RDER t® rREVEEl 8 tRULY awkul J®kel




BAD t®PIC, baD j®ke

SUMS With StanparD FeRrW
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5%x10% [ 52x1072 | 13x10° |1.5x10™ | 8x10™* | 3.6x107 | 2.5x10°
4 FLY D®Nt PUPI| R®4D t® tine
2.7x10* | 2.07x10°| 5.96x10*| 2x10° 6x10%° | 6x10° | 4.1x107"
ball C(l®Ck b®RED | ChiCken can whyY ®thCK
1.5x10" | 5.8x10° [8.57x107"| 2x10’ 4%x10* | 36x10" |4.798x10°
CR®NS DiD Make hiS the Sipe thrRew

1) (3x10°)x(2x10*) 2) (8x10%)+(5x10°) 3)(8x107)=(2x10°)

= (2x3)x(10°x10*) =800+5000 = (8+2)x(107 +10°)
610’ =5800 _4x10?
=5.8x10
4) (6x10*)-(4x107) 5)(2.5x10° )x(6x10°) 6) (4.1x10° )+ (6.98x10?)
= 60000 — 400 _15x10" = 4100+ 698
=59600 _ 14 =4798
=5.96x10° =1ox10 —~4.798x10’

7) (3x107)=(6x10°) 8)(2.7x10°)-(6.3x10*)  9) (4x107)x(9x10)

—0.5%10° = 2;80880— 63000 —36x108
—5x10° ;2(7)7x105 ~3.6x107

10) (8x107)+(5.7x1072) 11) (2x10°)+(8x107) 12) (5.8x107)—(6x107?)

=0.8+0.057 —0.25%x10"° =0.058-0.006
=8.57x107" ' =5.2x107?

NeW FND the WeRrD matching €ach answer anp Put
them in Aquetien ®RDER t® rREVEEl 8 tRULY awkul J®kel

why PiD th b®RCD PUPI| thrRew

a (l®Ck ® mMake time FIY




